PROPRIETARY AND CONFIDENTIAL

Rev| ECR Description Date By | App
THE INFORMATION CONTAINED IN THIS DRAWING IS THE SOLE PROPERTY OF i
CAPSTAN AG INC. ANY REPRODUCTION IN PART OR AS A WHOLE g ;g;g Production Release 1581/29?8 BE';‘LSS
WITHOUT WRITTEN PERMISSION OF CAPSTAN AG INC IS PROHIBITED ltem 14. 320500-612 was 320500-608
Note 2, App Code 6.12 was 6.08
POWER
SELECT
SETUP
..I
SYSTEM
SETUP
]
— 14 | 320500-612 Application Code, CapVeiw, 6.12 1
ESCAPE ENTER 13 | 120031-004 CapVeiw, C4 Control Board 1
12 | 120020-002 3.5in LCD High Temp 1
11 | 120140-009 Screwlock 4-40 M/F Hex 4
10 | 709031-803 Screw 10-24 x 1/2, Phil, Pan Hd SS | 4
9 709031-203 Screw 6-19 x 5/8, Plastite 2
8 708992-102 Screw 4-40 x 3/8 Phillips Pan Head | 7
7 708992-203 Insert 10-24 Threaded Brass 4
6 708992-202 Insert 4-40 Threaded Brass 5
5 120040-001 SD Card 1
4 320200-301 Key Pad, SwathPRO 1
3 120023-001 CapVeiw Case Front 1
2 120022-001 CapVeiw Case Rear 1
1 120021-001 CapVeiw Rubber Band 1
Item| Part Number Description Qty
Notes: Zo)
wCapstan
1. Boot Code: Boot.Hex T oae TTriE.
2. Application Code: 6.12 prawn | BLS |5/16/18
Checked Assembly, CapVeiw, SwathPRO
QA APP
SIZE DWG No: REV
B 320200-300 |p




	Sheet1

